IT 101-001
Homework #6 due November 28, 2007
1. Which of the following is true about LINUX? Select one.

a)  It is a type of operating system

b) It is a type of programming language

c) It is losing popularity

d) The source code cannot be modified

e) All of the above

2. An FDDI LAN runs over which of the following media:

a) Twisted Pair

b) Coaxial cable

c) Fiber Optic Cable

d) Wireless
e) All of the above

3. Calculate the percentage of overhead present in Ethernet diagram if you had 200 bytes of data to send. Select one:

a) 21%

b) 11.5%

c) 36%

4. Which of the following is referred to as IEEE802.11 standard?
a) Wireless Ethernet
b) 10BaseT

c)100BaseT

d)All of the above

5. Which of the following is an access control method?

a) Ethernet

b) Token based access

c) CSMA/CD

d) Both b) and c)

